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Section B (40 marks) Working steps must be shown in answering questions in this

section unless specified otherwise.
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31@). | pe perimeter is cm.
R 78 cm ° 2
31(b). 26x13%9 2
= 3042 2
The area of the whole figure is 3042cm?.
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= 3042 ’
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He needed to run 34—1 hours at least.
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32(b).

33(a).

33(b).

34(a).
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(70+95)%x(900+15) 2
=9900 2
Mr Lee consumed 9900 kilocalories of energy by
running in total. ,
(70+95)x(900+15) 5
=9900
ZhA MR ERAE 9900 F+ o 4
64--2x14 2
=448 2
She had 448 sticks with 25cm in length.
64+2x14 2
=448 5
¥ 3 &R E_25cm 9 448 < o 4
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il
Scm
2
24+(12—8)x8 2
=48 2
The perimeter of Figure 2 1s 48cm.
24+(12—8)x8 2
=48 2
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34(b).

35(a).

35(b).

35(c).

36(a).

36(b).

Marks Marks
A @
Parallelogram  should be obtained.
viED_ TiEwiEA, o 2
285+90
=3...15
He can rent a booth for 3 days at most.
285+90
=3...15
BB 5T RT3 R o 4
The serial number of that booth was
SR mELE 70 o )
He should go in the direction of ___ southeast
o & S F o Ao 2
The difference is
L 550 5o 2
Because the sales of fans in April is 250, the sales of
¥] & fans in May is 500.
500—250 =250, the difference was 250.
250>200 (Accept any other reasonable explanation)
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s A 500 5 o
500—250=250 > 4p £ 250 & o
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